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Question Number : 1 Question Id : 2549896494 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A right click on the Windows desktop will .

Options :

1. % open the Display Properties dialog box
2. ¥ show a context-sensitive menu

3. ¥ open the Control Panel

4. # minimise all open applications

Question Number : 1 Question Id : 2549896494 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ® display properties SN ST Qe STTdT &

2. ¢ context-sensitive & fe@rdr g



3. # Control Panel @erdr &

4. % gt Geft g3 Yweithe™ i A-HTSS hedT &

Question Number : 2 Question Id : 2549896499 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
A word processor is:

Options :
1. ® a program that processes words, e.g. giving frequency of words, sorting of words, etc.

2. ¥ a program that provides the facility for creating, viewing, editing and manipulating text

before printing
3. ¥ a CPU microcomputer

4. # a program that gives the number of tokens in a text

Question Number : 2 Question Id : 2549896499 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 3 Question Id : 2549898419 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which function returns a 'Bitwise And' of two numbers in MS-Excel?

Options :

1. * BAND function

2. ¥ BITAND function
3. ¥ BITWAND function

4. % BITAND2 function

Question Number : 3 Question Id : 2549898419 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¥ BAND e

2. ¥ BITAND therrE
3. # BITWAND haeH

4. ¥ BITAND2 theRH

Question Number : 4 Question Id : 2549898801 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

What is a compiler?



Options :

1. ¥ A program that transforms human readable code written in high level language into a

machine readable code.

2. # A program that reads the source code of another computer program and executes that

program.
3. ¥ A program that converts code written in assembly language into machine language.

4. # A collection of programs.

Question Number : 4 Question Id : 2549898801 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 5 Question Id : 2549899324 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

An example for an input device that transmits input to the computer with the help of radio

frequency is
Options :

1.



# keyboard
2. ¥ wireless keyboard
3. ®* Scanner

4. % touch screen

Question Number : 5 Question Id : 2549899324 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ® FEE
2. ¢ aIRAY hlEtS
3. ¥ TR

4. ® g &hig

Question Number : 6 Question Id : 25498912042 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Programs written in an assembly language are converted into machine language in a computer by

a/an

Options:
1. % assembler
2. % compiler

3. * interpreter



4. % processor

Question Number : 6 Question Id : 25498912042 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¥ IR
2. ¥ HHUIgeR
3. ¥ R

4. % gOWR

Question Number : 7 Question Id : 25498920675 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a network device?

Options :
1. % Modem
2. % Router
3. % Hub

4. ¢ Stylus

Question Number : 7 Question Id : 25498920675 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Options:
1. ¥ AigH
2. % WX
3. % gd

4. ¥ wIgeg

Question Number : 8 Question Id : 25498929736 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which shortcut key is used in MS Excel to open the “Find and Replace” Window"?

Options:

1. % Shift + F5
2. % Ctrl +F5
3. % F6

4, ® Ctrl+ F7

Question Number : 8 Question Id : 25498929736 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % Shift + F5



2. % Ctrl+F5
3. % Fo6

4, % Ctrl+ F7

Question Number : 9 Question Id : 25498929897 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The barcode that has the ability to encode 50 characters in an extremely small size and that is

popular in the healthcare and electronic components industry is:

Options :

1. * PDF417

2. # MaxiCode
3. ¥ Data Matrix

4. % Codabar

Question Number : 9 Question Id : 25498929897 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. * PDF417
2. # Aadterts (MaxiCode)

3. ¥ Ser afee™



4. % spreaR (Codabar)

Question Number : 10 Question Id : 25498929979 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Signature and keystroke of a user serve the purpose of:

Options :

1. ¢ behavioural biometric features
2. * physiological biometric features
3. # psychometric features

4. ® visual features

Question Number : 10 Question Id : 25498929979 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ QTS (agiiRe) Taafes HirR
2. % IR (feharcres) sTaafee hiRR
3. ® gERmies R

4, % g iR

Question Number : 11 Question Id : 25498931274 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
A CMOS battery is generally a/an cell battery.

Options:

1. ¢ lithium

2. % zinc-carbon
3. * alkaline

4. ® copper

Question Number : 11 Question Id : 25498931274 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
TUeh CMOS st 9|=ad: Ueh ad s it 8l

Options :

1. ¢ AifaH
2. ¥ fSieh-epreie
3. #® 3fcchIclrs

4, ¥ PR

Question Number : 12 Question Id : 25498931335 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is/are method(s) of protecting data on a USB flash drive?

Options :

1. # Use USB encryption software

2.



# Delete data after use
3. ¥ Do not keep a backup

4. % Install anti-virus protection

Question Number : 12 Question Id : 25498931335 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % USB Uf=h& TIuedaR T IUANT fhaT ST ehdr & |
2. ¥ FEIATC oh TG STl feedie &l |

3. ¢ dh3T 7 G |

4. ¥ U8-qrRy QRe wiiud o |

Question Number : 13 Question Id : 25498933059 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is an input device that enables a user to hand-draw images, animations and
graphics, with a special pen-like stylus, similar to the way a person draws images with a pencil and
paper?

Options :
1. # Book-pad
2. * Puck

3. ¢ Digitizer

4.



# Pantograph

Question Number : 13 Question Id : 25498933059 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® gop-08

2. % Uch

3. ¢ f3fSergsr

4. ¥ UIUTHh

Question Number : 14 Question Id : 25498933185 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
How many values can we represent with 8 bits?

Options :
1. % 64
2. % 512
3. % 32

4. ¥ 256

Question Number : 14 Question Id : 25498933185 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1. % 64
2. % 512
3. % 32

4. ¥ 256

Question Number : 15 Question Id : 25498933945 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A mouse, touch screen and trackball are all examples of devices.

Options:

1. % scanning
2. % voice input
3. ¥ pointing

4. % output

Question Number : 15 Question Id : 25498933945 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :



1. % ThfHT
2. ¥ gl YL
3. ¢ ursfé

4, % 3MIeYe

Question Number : 16 Question Id : 2549898963 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following protocols used by WWW defines how messages are formatted and
transmitted, and what actions web servers and browsers should take in response to various

commands?

Options:
1. % FTP

2. ®# SMTP
3. ¥ HTTP

4. % UDP

Question Number : 16 Question Id : 2549898963 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. % FTP

2. * SMTP



3. ¥ HTTP

4. = UDP

Question Number : 17 Question Id : 2549899488 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is FALSE with reference to primary storage device of a computer system?

Options :

1. # Smaller size

2. * Temporary data retention
3. * Internal location

4. ¥ External location

Question Number : 17 Question Id : 2549899488 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ Bl ATHR

2. % eyt S ufayror
3. ® 3fidRen elichaH

4. ¥ IEN b=

Question Number : 18 Question Id : 2549899499 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is an example of a biometric input device?

Options :

1. * Flatbed scanner
2. ¥ Sheetfed scanner
3. ¥ Handheld scanner

4.+ Face scanner

Question Number : 18 Question Id : 2549899499 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ TRicdS TR
2. ¥ gficthe TR
3. ¥ g3gce W

4, ¥ thyg TR

Question Number : 19 Question Id : 2549899604 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
When you enter text in a cell in Excel. It also appears in the bar.

Options :



1. % Status
2. * Row Heading
3. ¥ Formula

4., * Name

Question Number : 19 Question Id : 2549899604 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % &g
2. % 3 gfen
3. ¢ e

4, % 90

Question Number : 20 Question Id : 2549899632 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
An inkjet printer has a disadvantage with which of the following factors?

Options :

1. % Quality

2. ¥ Speed

3. # Physical size

4. % Start up time



Question Number : 20 Question Id : 2549899632 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. #® o1 (Quality)
2. ¥ 91 (Speed)

3. % fhfSiohet OIS

4, % e g gy

Question Number : 21 Question Id : 25498911119 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is a dedicated computer that supports a network printer?

Options :

1. % Print server

2. * Dedicated server
3. # Network printer

4. % Network server

Question Number : 21 Question Id : 25498911119 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ flie geR

2. % SfSchee (Trfta) TeRr
3. ¥ degdh fuR

4. % Jeadh geR

Question Number : 22 Question Id : 25498911265 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The broadcasting of radio and TV programmes through the internet refers to:

Options:

1. #* interactive streaming
2. ¥ streaming live

3. #* streaming stored

4. ¥ interactive and streaming

Question Number : 22 Question Id : 25498911265 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ge¥e o ATeH O A3 3R Al SwRiehAT a1 TRl Ry defea aar 82

Options :
1. % Zo¥fqeq Eiff

2. ¢ Lt g



3. ¥ Hifanwrs

4, % ZfFa ok ST

Question Number : 23 Question Id : 25498911276 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In MS-Excel, of the worksheet appear vertically and are identified by letters at the top of the

worksheet window.

Options:
1. * Cells
2. % Columns
3. * Rows

4. ¥ Headings

Question Number : 23 Question Id : 25498911276 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. # dg

2. ¢ i

3. %39

4. % &g



Question Number : 24 Question Id : 25498913484 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is a global network of billions of computers and other electronic devices?

Options :

1. ® Gateway

2. * Local Area Network
3. # Bridge

4, ¥ [nternet

Question Number : 24 Question Id : 25498913484 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. ¥ dieg
2. ¥ SYepet YRAT Acadh
3. % fost

4. ¥ e

Question Number : 25 Question Id : 25498913783 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



In general, the longer a key is, the security it provides.

Options:
1. ¥ better
2. # |east
3. # lesser

4. % |imited

Question Number : 25 Question Id : 25498913783 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ IR
2. % [gAdH
3. % &H

4. % fafaq

Question Number : 26 Question Id : 25498918506 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
What is the minimum requirement before you install a printer driver?

Options :
1. % Administrator login

2. % Guest login



3. ®¥ Student login

4. # Network login

Question Number : 26 Question Id : 25498918506 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ gefafAgdeR difiA
2. ¥ T A

3. ¥ S dft

4, % e A

Question Number : 27 Question Id : 25498918538 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

If you want to start your computer with most of the non-essential features disabled, which of the

following options will you use?

Options :

1. # VGA mode
2. * Normal

3. ¥ Safe mode

4. % Network mode



Question Number : 27 Question Id : 25498918538 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ VGA HIS
2. * gHE
3. ¥ Im HIg

4, ¥ Az Al

Question Number : 28 Question Id : 25498924013 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following software is available to users with the source code? Users can freely

distribute and modify this software and add additional features to the software.

Options:

1. % Open source
2. ® Shareware
3. * Freeware

4. * Closed source

Question Number : 28 Question Id : 25498924013 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ 3o o
2. % JIAW
3. ¥ hadw

4. % goive O

Question Number : 29 Question Id : 25498924060 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following devices is considered as both, input and output device?

Options :

1. % USB drive
2. * Plotter

3. # Keyboard

4. % Printer

Question Number : 29 Question Id : 25498924060 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1.+ USB gr5a



2. ¥ wliR
3. ¥ fIare

4. % e

Question Number : 30 Question Id : 25498924301 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The minimum hard disk size recommended to install Windows 2000 is:

Options :
1. % 4GB
2.¥ 2GB
3. # 16 GB

4. % 8GB

Question Number : 30 Question Id : 25498924301 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % 4GB
2.¥ 2GB
3. % 16 GB

4. * 8GB



Question Number : 31 Question Id : 2549896779 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
A website’s main page is called:

Options :

1. * the browser page
2. ® the search page
3. ¥ the home page

4. # the finding page

Question Number : 31 Question Id : 2549896779 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¥ IR U
2. ¥ I U
3. ¢ g O

4. % GEfET ot

Question Number : 32 Question Id : 2549897212 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In Google calendar, the is used to select the page size and page orientation.



Options :

1. % Calendar Print Preview
2. % Page Preview

3. # Orientation Preview

4. * Sjze Preview

Question Number : 32 Question Id : 2549897212 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ Selex file ey,
2. % o9 g,

3. ¥ 3iRdes g,

4. % gEe g

Question Number : 33 Question Id : 2549897936 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a network switching technique?

Options :
1. % Circuit Switching
2. * Packet Switching

3. ¥ Message Switching



4. ¢ Content Switching

Question Number : 33 Question Id : 2549897936 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. % gfche feaf<m
2. % Gone fQfEm
3. ® A4 fafa

4, ¢ e fafkm

Question Number : 34 Question Id : 2549899390 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In the Print dialog box, the Print to File creates:

Options :

1. # .txt file
2. ¥ docfile
3. # .dot file

4.+ prn file

Question Number : 34 Question Id : 2549899390 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Options:

1. % .txt thIseT

2. % doc tIgat

3. % .dot ThrseT

4. % .prn tigd

Question Number : 35 Question Id : 2549899399 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In which of the following ribbon tabs does the Spelling command appear?

Options:
1. ¥ Review
2. * View
3. * Design

4, * Insert

Question Number : 35 Question Id : 2549899399 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ Reg

2.



=

4. % 3¢

Question Number : 36 Question Id : 25498910504 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

If we press tab key to iterate through the table column for entering text, MS-Word capitalises

in each line by default.

Options :

1. ¥ the first letter

2. # the first word

3. ¥ the first letter in each word

4. * all words

Question Number : 36 Question Id : 25498910504 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ Ugll 31&R
2. % Ugdll Asq

3. ¥ gJch UE oh Ul 38R



4. % gt grecf

Question Number : 37 Question Id : 25498910548 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Style guide of the Company, where Satheesh works, insists on one-and-a-half-inch margins for all

press releases. Which type of margin should he select from the following options?

Options :

1. % Narrow

2. * Normal

3. % Custom Margin

4. % Mirrored

Question Number : 37 Question Id : 25498910548 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¥ Ry

2. ® e

3. ¢ h&eH HifoH

4. % RS

Question Number : 38 Question Id : 25498910581 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
There is/are type(s) of indent(s).

Options :

Question Number : 38 Question Id : 25498910581 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1.%1

Question Number : 39 Question Id : 25498910655 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a Unicode encoding system to represent characters?
Options :

1.



¥ UTF-8
2. = UTF-10
3. % UTF-28

4. % UTF-48

Question Number : 39 Question Id : 25498910655 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1.+ UTF-8
2. % UTF-10
3. % UTF-28

4. %= UTF-48

Question Number : 40 Question Id : 25498910723 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following domain names is used by network organisations?

Options :
1.4 .net
2. % .org
3. % .com

4. % edu



Question Number : 40 Question Id : 25498910723 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. % .net
2. % .org
3. % .com

4, % edu

Question Number : 41 Question Id : 25498911509 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is an input device?

Options:

1. ® Speaker
2. * Monitor
3. ¢ Light Pen

4. # Printer

Question Number : 41 Question Id : 25498911509 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % Wi
2. % A
3. ¥ A8 uA

4. % fijex

Question Number : 42 Question Id : 25498911882 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Following is the path to display a shaded background behind the area where tracked changes or

comments appear in the right margin in MacOS 2011 version MS-Word.

Review tab -> ? -> Show Markup -> Markup Area Highlight.

Options:

1. # Proofing
2. * Comments
3. ¥ Tracking

4. % Changes

Question Number : 42 Question Id : 25498911882 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Review tab -> 7 -> Show Markup -> Markup Area Highlight.

Options :



1. % gfth
2. ® ey
3. ¢ o

4. % 51

Question Number : 43 Question Id : 25498912492 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a network topology type?

Options :
1. % Star
2. ¥ Mesh
3. * Tree

4. % Coin

Question Number : 43 Question Id : 25498912492 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ &R

2. % Ag



v

4. & Hie

Question Number : 44 Question Id : 25498919197 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
How many steps are there in the process of mail merge?

Options :

Question Number : 44 Question Id : 25498919197 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 45 Question Id : 25498920456 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
Which of the following is the first network that came into existence in 1969?

Options:

1. % ARPANET

2. * Internet

3. #* Internal network

4. % Intercom network

Question Number : 45 Question Id : 25498920456 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : 0 Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ ARPANET

2. % g

3. ¥ 3idRke Aeash

4, % 3IIhH Acdh

Question Number : 46 Question Id : 25498923824 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following mobile processors is developed by Apple Inc.?

Options :

1. % A14 Bionic



2. ¥ MediaTek650
3. * SnapDragon 888

4. * Exynox 2100

Question Number : 46 Question Id : 25498923824 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % A14 saifRe (A14 Bionic)
2. # MfSarésw650 (MediaTek650)

3. % ¥ugT= 888 (SnapDragon 888)

4, % e 2100 (Exynox 2100)

Question Number : 47 Question Id : 25498925309 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a type of virus?

Options :

1. # File Infector
2. * Boot Sector
3. * Macro

4. ¥ bytecode



Question Number : 47 Question Id : 25498925309 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
7 & § &9 91 IR &1 Ueh TR ol 67

Options :

1. ¥ r3e $herR
2. ¥ g I

3. % Fent

4. Sr3cenls

Question Number : 48 Question Id : 25498925333 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Ravi is working on a document. If he changes the page orientation, the cover pages in the Cover

Page Gallery will the orientation he has chosen.

Options :

1. % change to

2. # be undisturbed by

3. #* change only selected pages as per

4. #* change only the first five pages as per

Question Number : 48 Question Id : 25498925333 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : 0 Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¢ e

2. ¥ JgRafda @m

3. % fth 9afaa o agam

4. % R Uge Ui AT FEe

Question Number : 49 Question Id : 25498925343 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the Hexadecimal equivalent of Decimal number (219)1¢?

Options:
1.+ DB
2. % BD
3. % DC

4. % CD

Question Number : 49 Question Id : 25498925343 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1.+ DB

2. % BD



3. % DC

4. % CD

Question Number : 50 Question Id : 25498925492 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
How will you publish a Word file on a Browser?

Options :

1. # Open doc file in the browser.

2. ¥ Save the file with Type web page and then publish.
3. * Upload the Word file on the internet.

4. % Create the Word file in the browser.

Question Number : 50 Question Id : 25498925492 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % ISR # doc TS EieTehe |

2. ¢ 213U 99 UST o I1Y WIS ohl g hch fhr Tfecter s |
3. # T R IS WIgel TS hich|

4. % SR H < HIsel BT e

Question Number : 51 Question Id : 25498925510 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is a useful point for subscript?

Options :

1. ® Itis used for standard abbreviations for trademarks and service marks.
2. # It shares a baseline with numerator digits.

3. ¢ It is useful to write chemical formulae.

4. *# Tt is useful in copyright and registered trademark signs.

Question Number : 51 Question Id : 25498925510 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 3gahT IUTNT SeHTH 3R Tfdg-ard & forg A deui & =u F forar Sirar 81
2. % gg I=ATcHeh 3ichl oh TTY SMTYR IGT TSI hedl &

3. ¢ gg JarIfAc YAl ot fogs & R Iuahft g gidn 8|

4. ¥ gg hIURIZC AR USiichd ¢SHATh I13- | IRt gidT 8l

Question Number : 52 Question Id : 25498933770 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is a threat to data security?

Options :



1. ¢ Phishing
2. * Browser
3. * Applet

4, * Animation

Question Number : 52 Question Id : 25498933770 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1. fORfR
2. % §I3eRR
3. ¥ Twic
4. % gfHe=
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Question Id : 25498921223 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (53 to 57)

Read the given passage and answer the questions.

When you're 50, what sort of holiday will you want to take?

If you're under 30 today, perhaps you'll be able to take a holiday in space!

A Japanese company, Shimizu, plans to open the first hotel in space within 15 years. They want to
offer three-day holidays in a space station, which will be bigger than the International Space
Station. However, holidays in space will be very expensive! About 90,000 dollars for three days.

Shimizu believes that there are enough people who will be ready to pay the price.

Other firms, in Japan and the USA, want to open hotels on the moon. Trips to the moon will be

even more expensive.

The Japanese firm is quite serious; but they cannot yet start building their orbiting hotel.

First, they will have to buy a commercial re-usable shuttle. Today, there are no shuttles. The old
American shuttles, such as Atlantis and Columbia, were very expensive to launch. They had to be
launched into orbit with a big rocket which cannot be re-used. Tomorrow's shuttles will take off

and land on their own, probably like aeroplanes. They will therefore be much more economical.

Such shuttles do not yet exist; the Americans are working on them, but they will not be ready for



several years.

However, there are other big difficulties too. How will ordinary people react to life in space?
Today's astronauts spend months of training before going into space. They have to be in top form

too.

Holidays in space will not be for tomorrow, that is certain; but they will come. That is virtually

certain too.

Sub questions

Question Number : 53 Question Id : 25498921224 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What does the Japanese company, Shimizu, want to do?

Options:

1. ® Establish an International Space Station
2. * Build a space shuttle to carry people

3. #* Sell reusable shuttles to launch into orbit

4. + Offer a three-day holiday in space

Question Number : 54 Question Id : 25498921225 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
What will the company have to do first to carry out its plan?

Options:
1. # Open a hotel in space

2. * Look for people who can pay for the trip



3. ¥ Buy commercial reusable shuttles

4. * Launch the shuttle into orbit

Question Number : 55 Question Id : 25498921226 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
As per the passage, what should be the main feature of the space shuttle for the holiday project?

Options:

1. # It should be launched with the help of a rocket.
2. ¥ It should take off and land on its own.

3. #* It should look like an aeroplane.

4. % It should be able to be put into orbit.

Question Number : 56 Question Id : 25498921227 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

As per the passage, which of the following will be a major problem for any company when the

space holiday project becomes a reality?

Options:

1. # Finding reusable shuttles that can land and take off on their own
2. * Finding enough number of people who will be willing to pay

3. ¥ Finding tourists who will not have problems adjusting to space

4. # Finding ways to make the trips more economical

Question Number : 57 Question Id : 25498921228 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following statements is NOT true according to the passage?

Options :

1. % The holiday in space will be quite economical.

2. ¥ American shuttles had to be launched into space with a rocket.
3. ¥ AJapanese firm plans to open a hotel in space within 15 years.

4. * Holidays in space will be a reality some day.

Question Id : 25498921223 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)
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Sub questions

Question Number : 53 Question Id : 25498921224 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
ST hu= fRAFAS] oRam et angdt 82

Options :

1. % Uop AT Safker L chl WTTAT|

2. % AN Y & ST & fow U siafRer sreet s

3. # e ¥ di-g A & g R & Iuah fhy 11 depa aret e a1l

4, ¢ JiaRker # o fa=1 & gieat S uxara |

Question Number : 54 Question Id : 25498921225 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
U et 37U TS O oA o forg uget oRam ez gi?

Options:

1. ® IRer & U gleat @i T



2. % g o foIq 9T e dTet ST ehl deTIeT el gt |
3. ¥ aTfoifdes & & fthe IuANT g1 Hehet aTet ATeel @RISAT g

4. % et H A Al AT g

Question Number : 55 Question Id : 25498921226 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TEIIRT & IR, gifers el & forg WY 2rea &t 7= fasivar s gt @nfay?

Options :

1. % 34 Ache hl Heg T g fhaT ST AT
2. ¥ 3 U Y o 3HTth AT 1Y 3R R e ol AT iy
3. % gg Ush gaTs SIgISl hi dvg feaAT a1fgul

4. % gg e § ST § G&rH g1 =gyl

Question Number : 56 Question Id : 25498921227 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TR & TR, STa SHARE R URINSTHT Geh ardfdehdT & STl g, df Rmferfea d & e, fohedt shut o
forg gen St e gl

Options :

1. ® JR-IR IUANT gl e dTet AT G&T Sl STHIA TR IR Hehdll & 3R T I oh-3iTth T ehdT &l
2. ¥ gyt G&T H AN chl G&HT S AT hi hl dIR gt |
3. ¢ 39 qdeenl ol geT =g sidiRer A gwrate # 9w gl gt |

4., % g opt IR 31fes fhthraet a9 & a¥iehl el IdT eRTHTI



Question Number : 57 Question Id : 25498921228 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TRl & AR fAAfafEd § 9 l=-91 sy 9 781 82

Options:

1. ¢ 3iaRer # g hIthl fhthrardt ghft

2. % AR e o Ache oh TTY 3idfRer # dAr—a fohar ST 2Tl

3. ® Qep SITAM! BH 15 I o iR sialker & Uah gled @ier &l aeiT a7 @1 g

4. % 3iqRer ¥ 3raehiel fopd e areafaehar gt
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SectionId: 2549897154
Section Number : 3
Section type : Online
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Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897195
Question Shuffling Allowed : Yes



Is Section Default? : null

Question Number : 58 Question Id : 25498928830 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Find the INCORRECT number in the following number series.
32,34, 37,46,62,87,123

Options :

1.9 34

2. % 37

3. ¥ 62

4. % 87

Question Number : 58 Question Id : 25498928830 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

forafofea ge 4@ § 9 U TE o §| I Tod T HiF G g7
32 34 37 46 62 87 123

Options :
1.« 34

5 % 37

5 % 62



4 % 87

Question Number : 59 Question Id : 25498928915 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What will come in place of the question mark (?) in the following expression?
(1.69)* + (2197 = 1000)® x (0.13 x 10)® = (1.3)°2

Options :

Question Number : 59 Question Id : 25498928915 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Tafaad THIBRO | usferg (7) & I W T AT
(1.69)* + (2197 + 1000)? X (0.13 X 10)3 = (1.3)7"2

Options :



Question Number : 60 Question Id : 25498929051 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

What will come in place of the question mark (?) in the given number series?

320, 320, 314, 290, 230, ?

Options :
1. % 114
2.9 110
3. # 50

4. * 98

Question Number : 60 Question Id : 25498929051 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
<&l 773 et At # usaraes g (?) & WE W a1

320, 320, 314, 290, 230, ?

Options:

1% 114

5 v 110



5 % 50

4 % 98

Question Number : 61 Question Id : 25498929100 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Find the value of the question mark (?) in the following expression:

60% of 45% of 220 = ?% of 150

Options :
1. % 45
2. % 32
3.+ 39.6

4. % 46.5

Question Number : 61 Question Id : 25498929100 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
ffeiiRaa Triterzor & g (?) & W™ R T SeE?

60% of 45% of 220 = ?% of 150

Options :

| % 45

5 % 32



5 v 39.6

4 % 465

Question Number : 62 Question Id : 25498929386 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

= . —_ i R 3
15 men can dig 6.75 metre long trench in one day. How many men should be employed for digging 3- metre long
2
trench of the same type in one day?

Options :

4. % 10

Question Number : 62 Question Id : 25498929386 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

15 S1GH T o7 9 6.75 e T g i W | 0 Fe e 1 v - e v vg e fe et s
B HHRIG

Options :



4 % 10

Question Number : 63 Question Id : 25498929710 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The upper part of a tree is broken by the wind and makes an angle of 30° with the ground. The
distance from the foot of the tree to the point where the top touches the ground is 4 m. The

height of the tree is:

Options :

1. % 10V3m
2. ¥ 43 m
3. % 3V3m

4. % 5Y3m

Question Number : 63 Question Id : 25498929710 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ueh U T SURT faTdT g1 ¥ g2 SITdT g 3R STHIA & 30° okl iUl SF1dT 81 U o SMUR & 39 foig ek <l gt gt <fid
S @l FAT 8, 4 m 1 US Y T

Options :
1. % 10V3m

2. % 43 m



3. % 3v3m

4. % 5/3m
GENERAL MENTAL ABILITY AND REASONING
SectionId : 2549897155
Section Number : 4
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897196
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 64 Question Id : 25498914084 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Unscramble the letters in the words given in options, and find the odd one out.

Options :

1. % AGEBLN



2. * NGRI
3. * ELCNAKEC

4. ¢ RKTSI

Question Number : 64 Question Id : 25498914084 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

faened & f&q 7Q ereal # steRi ol gy, SR fawe g &l T4 |
Options :

1. * AGEBLN

2. % NGRI

3. * ELCNAKEC

4. ¥ RKTSI

Question Number : 65 Question Id : 25498919005 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the word from the options that is similar to the given set of words in a certain manner.
Hair : Grass : Fur

Options :

1. ¥ Feather

2. # Cloth

3. ¥ Wood

4. % Leather



Question Number : 65 Question Id : 25498919005 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fahedl # @ I 215 T 99 hISIT St T 7Y 2reat & Tiaa & Tes (AfYd adtch & fAetar-Serdn gt

1T : U : 3T (WR)

Options :
1.¥ 1@

2. ® puel
3. % gt

4, % TSI

Question Number : 66 Question Id : 25498919683 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the option in which the numbers share the same relationship as that shared by the given

pair of numbers.

12:144
Options:

1. % 22 1 464
2.¥20 : 400
3. %15 : 135

4, % 10 © 140



Question Number : 66 Question Id : 25498919683 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
39 e a1 T &2 forad Tad a8l deiy 1 St @ St iy 7g st & g g1 are fosan Sirar g1

12:144
Options :

1. % 22 . 464
2.4 20 : 400
3. %15 : 135
4. % 10 : 140

Question Number : 67 Question Id : 25498919729 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

At the fair, I bought 6 erasers and 2 pens for ¥15. If I could have bought 4 more erasers for ¥14

than pens for ¥9, then the price of a pen would have been:

Options :
1.%¥ %15
2. #3175
3.4%225

4. % ¥ 2.75

Question Number : 67 Question Id : 25498919729 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
At H, {1 6 e 3R 2 09 15 & @A | afe & ¥9 # U4 Y I H T14 H 4 36 31fdeh @ig har o1, dt 9 <l
FHd a1 gidt?

Options :
1. % %15
2. % %175
3.4%225

4. % ¥ 2.75

Question Number : 68 Question Id : 25498919837 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different.

Select the one that is different.

Options :
1. ¥ Flute
2. % Quitar
3. #* Sitar

4. * Violin

Question Number : 68 Question Id : 25498919837 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I TR 21eg f&Q 717 € IAH 9 i 2reg fohdt d¥ich & Teh-THT 0T a1 € ifehT Shig ek T 1eg I ofiH 8 9 2
379 fO7 (3ifS a9) e T UdT TG

Options :



1. ¢ 9Igd
2. % TR

3. % ar

Question Number : 69 Question Id : 25498927375 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : 0 Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Find the number of triangles in the given figure.

Options :
1.% 8
2. %10
3. %12

4.4 14

Question Number : 69 Question Id : 25498927375 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. %8
2. %10
3. %12
4. ¥ 14
GENERAL AWARENESS

Section Id : 2549897156
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Question Number : 70 Question Id : 2549899687 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
When was the Tenth Five-Year Plan period?

Options :

1. * From 1999 to 2003
2. % From 2000 to 2005
3. % From 2002 to 2007

4., * From 2003 to 2008

Question Number : 70 Question Id : 2549899687 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
<Hdl daauia TietT cht srafer em oft?

Options:

1. % g 1999 & 2003

2. ¥ g9 2000 ¥ 2005

3. ¢ g 2002 ¥ 2007

4. % v 2003 ¥ 2008

Question Number : 71 Question Id : 25498912535 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In which year was the Brundtland Commission Report published?



Options :
1. % 1978
2.9 1987
3. % 1989

4. % 1991

Question Number : 71 Question Id : 25498912535 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
siceie ST <ht RUTE foha o SIRY g8 oft?

Options :
1. % 1978
2. ¥ 1987
3. # 1989

4. % 1991

Question Number : 72 Question Id : 25498912785 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Wasim Akram of Pakistan is associated with:

Options:
1. % politics
2. ¥ martial law

3. * nuclear tests



4. ¥ cricket

Question Number : 72 Question Id : 25498912785 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
UTfchedT™ o a¥iH 37ehed fohdah 919 S 872

Options:

1. ® ot

2. % qrefe At

3. ¥ URATY] GRiEor

4. ¥ fohche

Question Number : 73 Question Id : 25498929958 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following types of spurs is typically associated with valley glaciers?

Options :

1. * Interlocking
2. # Juxtaposed

3. #* Overlapping

4.+ Truncated

Question Number : 73 Question Id : 25498929958 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
fferfea & ¥ fohg UeR & gddeehy (spurs) &t 3 diR IR 91¢ & 3Hg (valley glaciers) & Hdg fohar Sirar 82

Options :

1. ¥ Zezartan (Interlocking)
2. % Segediss (Juxtaposed)
3. # 37U (Overlapping)

4. ¥ ¢hds (Truncated)

Question Number : 74 Question Id : 25498932559 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following CANNOT be suspended or restricted even during a national emergency as

on September 2021?

Options :

1. * Right to reside and settle in any part of the country
2. ¥ Right to life and personal liberty

3. ¥ Right to move freely throughout the territory of India

4. * Right to carry on any profession or business

Question Number : 74 Question Id : 25498932559 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fader 2021 do 6t AT & IR, 390 4 R AL smuTdentet & T9g it fAeifad ar ufasfaa =&t forar s gerar

8?

Options:



1. % 321 ot oft fg8 & 3@ IR 59+ o1 HfIAR
2. ¢ Sfige o1 AR SR [ASH Wd=ar s sifdear
3. ¥ QR 9Rd H Wda AR &l AR

4. ® oI gl T AT hA T AfTRR

Question Number : 75 Question Id : 25498935540 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

An ultrasonic wave is defined as 'inaudible sound with high frequency for humans' - the frequency

of which generally exceeds

Options :

1. %# 10 kHz
2. ¥ 20 kHz
3. % 7kHZ

4, % 3 kHz

Question Number : 75 Question Id : 25498935540 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
JegrE-eh a9 st ATl o folg S=a gy atelt s1sieg eafe' & & & gRNa fohar Sirar & - gt sgf
AR WR 9 31 gidt 21

Options:
1. % 10 kHz

2. % 20 kHz

3.



® 7 kHZ

4. % 3 kHz
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Clear Response:
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Sub-Section Id : 2549897198
Question Shuffling Allowed : No

Is Section Default? : Yes

Question Number : 76 Question Id : 25498940883 Question Type : TYPING TEST Display

Question Number : Yes Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students with
various life skills such as teamwork, socializing, decision making, independent and
responsible living and more. It aids the overall development of a child and children have fun

during this process as they get to explore new arenas.
Restricted/ Unrestricted : Unrestricted

Paragraph Display : Yes

Keyboard Layout : Inscript

Show Details Panel : Yes

Show Error Count : Yes

Highlight Correct or Incorrect Words : Yes

Allow Back Space : Yes

Show Back Space Count : Yes

English Actual
Group Number : 3
Group Id : 2549894540
Group Maximum Duration : 15
Group Minimum Duration: 15
Show Attended Group?: No

Edit Attended Group?: No



Break time : 3

Mandatory Break time: Yes

Group Marks : 0

Is this Group for Examiner?: No

Examiner permission : Cant View

Show Progress Bar?: No
English Typing Test

Section Id : 2549897158

Section Number : 1

Section type : Typing Test

Mandatory or Optional : Mandatory

Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and

Clear Response: Yes

Maximum Instruction Time: 0

Sub-Section Number : 1

Sub-Section Id : 2549897199

Question Shuffling Allowed : No

Is Section Default? : Yes

Question Number : 77 Question Id : 25498938661 Question Type : TYPING TEST Display
Question Number : Yes Calculator : None

The greatest and most successful people in the world have one aspect common which is
good manners. Good manners and idiosyncrasies of human beings are the measures with

which we should judge if a person is good or not. True success of a person is measured by



the manners they possess. One might have billions of dollars in their bank account but if
they do not have good manners in life then maybe they are not successful in a real sense.
Real success comes from a great personality and a great personality is built on good
manners. Some of the manners that should be taught to children to help them in their lives
both personal and professional are empathy and helpfulness along with discipline and much
more. Empathy is one of the most important manners that every human being should have.
In a world where there is so much of violence and hatred spread amongst the people a little
bit of emphatic feeling can come a long way to make our society a better place. The ability
to stand in the place of someone and perceive things from their point of view is not
something everyone can do especially when we have our own problems in life to solve. But
what one needs to understand is that there is no person in the world who has no problems
in life. Everyone is fighting their own battles and being empathetic to one and another is
something that everyone should cultivate within themselves. Qualities of Empathy and
helpfulness go hand in hand. Empathy might just be intangible effects on people but being
helpful has a measurable tangible effect on our society. In certain cases being empathetic is
just not enough. Especially if one is privileged enough to help then they should develop that
habit of helping the unprivileged sections of the society. Our society would be a much better
place if everyone took care of each other without any strings attached. True helpful nature
is that where you help a person without expecting anything in return. Helping is not an
investment to expect something in return it should be a selfless act of kindness and love. If
people think enough before they say or act then this world would be a far better place to
live in. Retrospection is something that many of us lack because of which we say and do
things that might hurt others. Wars and bigotry that the world faces today all come from
the lack of self conciseness amongst people. One small paragraph on the importance of
good manners will not be enough to talk about the importance of this particular good
manner for humans. Before doing something wrong if we sit for a while and think about it
then maybe half the wrong things that we do will not be done. Not everyone is born with
good manners but good manners can be inculcated with everyday practice without fail.
Good manners can be taught to children from a young age so that they grow up to become a
better human being. Never should good manners be taught to make money or scoregood
marks. Developing good manners is much more important than materialistic success.

Developing good manners will make our society a better place to live in.
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